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; . DPP. NO-'18
Class:XI Topic: Range
Find Range of following function :- 1
— 2 _ ] 25, y=
1. y=X-X+2, Xe[ 2, 3] X—[X]
2. y=2¢+5x-1  xe[0,3]
1
3. y=x2-3x+1 2. 1 =[sin{x} J
4 y=sin®x-2sinx+2 (az (b) N
5. f(x)=cos?x-5cosx-6 (c){x:x20,xeZ} (d) {x:x=2,xeN}
B f(x)=4¥+2%+1 1
27. f(x)=log ooslx]+5]
7. y=x*-3x2+2
8. =2{x%-{x}-2 fog=-2=0d
y=2{x}"-{x} 28. f(x) 1-[x]+x
9.  f(x)=logs(5 +4x-x?) 2
29, f(x)=sin"| X+
10. f(x):sin‘1(\/x2+x+1) ' P48
1". f(x):log;,(logo_;,(x2 +4x+4)) 30. f(x):,/log;,(cos(sinx))
2
12, f(x)=x-1+6-x . f(x)=x_+2x+_3
13 f(x)=v6-x+2Jx-4
x-1
14. f(x)=|ogo.5(JX—1+J5—x) 32. f(x)le’_zx+3
2
18. f(x)=[ln(sin‘1 Vx? +x+1]]. where [.] denotes the greatest 33. =))<(2+_x+2
+X+1
integer function.
y=—i
16 y=logyx?+6x+10 R4 2 —8x—4
1 X—2
()= —+ e B
17. ) 2-sin3x 85 X2 - 2x+3
1 X
18. )= 2-cos 5x B ¥
(@) (113, 1) (b)[1/3, 11 (€)[1/3,1] (d) none of these X2 —x
7. y=3
19 - ’_—xz X°+2x
X2 - 3x+2
- . f N E—
20. f(x)= x i e x2+x-6
- (a)R-{1/5,1] (b) R (©)R~-{1} (d) none of these
X (@(-,1)  (b)(~0,0) (c)(1, ) (d) none of these
@©1) ®O11 (@ (1)  (d) [1,0) 40.  f(x) =[x-1)+|x-2|,~1<x<3
22, y=4_’<xz 4. y=[x-2|+22x+1| 0<xs5
42, y=|x—1|+|x—2[+|x-3|
23. Yy=sin™ [1+x2}
: 2 43.  y=3|x-3|-2|x+2|
) 1 44.  f(x)=sinx+cosx+3 PAGE#1
s T v e 4s.

y=3sinx-4cosx+2



46.

47.
43.
49,
§0.

51.

52.
§3.

6.

57.

68.

69,

60.

61.

82.

63.

65.

67,

68.

y= 3sinx+4cos(x+£)+7
3

f(x) =| sinx| - cosx
f(x) = 2| cos x| + 3| sinx|
f(x) =[sinx|

f(x) =[sinx + cos ]

f(x) =[| sinx|+ cosx|
10 [sns cosx |

f(x) =[|sinx|+|cosx|], where [.] denotes the greatest
integer function.

f(x) = ,} sin2x] - [cos 2x], where [.] denotes greatest integer.

f(x)=[|sinx—cosx|]

Find domain and range of f(x)= loge *1— ,
\/[cos x]-[sinx]

where [.] denotes the greatest integer function.

f(X) =7_)px_3

(@{1,2,3) (b){1,2,3,4,5,6)
(©{1,2,3, 4} (d){1.2, 3, 4, 5}

f(x) =2 C,y 4

f(x) e Px+1 + 8—x03x_1

(%) = a2 cos? x + b2 sin? x + Va2 sin? x+ b2 cos?x,
where a = b,

sin? x + sinx — 1
SIN“ x-sinx+2

f(x) = In(2sinx + tanx— 3x + 1), where x e[g 1]

f(x)=cos‘1[ X2 }

\}1+x2

f(x) = (tan‘1 x)2 +—l

V1+x2

f(x) = oos[sin{ln{ :22 i: ]]] + sin[oos[ln(’:; :?D]
f(x) < 2Bn(x]x% - x]

1+sin(cosx)’ where [.] denotes the greatest integer
function.

Given that y = f(x) is a fun
fange is [-1, 9], Find the

1
(a) 9(x) = —3-f(x)

ction whose domain is [4, 7] and
range and somain of

() h(x) = f(x-7)

fx) &=
e* 4

70.

o

71.

72.

73.

74

75.

76.

77.

78.

79.

80.

82.

83.

sinx COS X

J1+tan2x ) ,/acotzx

If g(x) = (-1-_1—)() and g,(x) denotes g(g(x)), and g,(x) denotes

f(x) =

g(a(g(x))). Then find the range of 9an+1(X)- n eIt

f(x) = sin“[xz + —;—] + 008'1[X2 - 21} where [.] denotes the
greatest integer function.

f(x) = [x*]- [x]?, x€[0,2], where [.] denotes greatest integer
function.

f(x) = sec“(loga tanx+logianx 3)

Find the range of the function

f(x) = V-x2 +4x—3 + Jsin[ (sing(x— 1)))

X
2

Find domain and range of

f(x) = ‘/(1 -Cos x)\/(1 - cos x)J(1 - CoSX)

f(x) = [1+ sinx]+[1+sin 2X]+............ +[1+sinnx], n eN.
(where [.] denotes greatest integer function)

f(x) = [[x]- 1]+ cos?x, where [.] denotes the greatest
integer function.

f(x) = logix_yy sinx, where [-] denotes greatest integer.

X
f(x) = [xeTﬂ'x 20, where [.] denotes the greatest integer

function.

1+x

Letf(x)={3 . 0<x<1

-X , 1<Xx<ow

Define f(f(x)). Also obtain domain and range of f(f(x)).
Functions f(x) and g(x) are defined
monotonically increasing while a(
decreasing. It is given that the ran
subsets of [a, b]. Find domain an
h(x) = fog(x) + gof(x).

Find the domain and range of h(x) =

[X] , -2<sx<-1
f(x) =
) {|x|+1, -1<x<2 @and

in [a, b] such that f(x) is
X) is monotonically

ge of f(x) and g(x) are

d range of

g(f(x)), where

[x] , -m<x<0
f(x) =
0 {sinx . OD<x<xn

where [.] denotes greatest integer function.
Find all possible values of real Parameter ‘a’ so that the

range of f(x) = .l 5 does not contain any value
a-x%+1

belonging to the interval [—1, —%]
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84. Let f(x)= X -4x+3 | x<3 4o
x-4 |, x=3

x-3
X2 4+2x+2

, X<4
, X4

g(x)={

Describe the function f/g and find its domain and range.

85. Let f(x)=+ax’ +bx. Find the set of real values of ‘a’

for which there is at least one positive rea value of ‘b’ for
which the domain of f and the range of f are the same set.

ANSWER KEY
5.R; =[-10, 0] 6.R; =(1 )
9.R = (0, 2] 10.R; =[n/3, /2]
11.R 12.[2,2/2]
13.R; = [+2, V10|  14.R;=[-3/2, -1
15.R; = {0} 17.¢C
18.R =[1/3, 1] 19.R; =[0,3]
20.R; =(—0,2/3]U(lw)  21.C
26. B 27. {0}
28. LO- -;-] 29.R;=[n/6, n/2)
30.R; = {0} 3. (<0.2-2V2|u[2+243,%)
2 [;0- 20+ e
39.A

40.Range €[1,5]

44.Rangec[3-42,3++42]  53. (1}

54.0, 1] 56.Df = [2m: - % 2nnJ, R = {0}

57.A 60.Rr = [a+b, J?(a?bz)}

61.Ry =[(2—2Jﬁ)/7, 1/2]U{1}

62.R, =[In(2+-j?-%], In(2V3 +1-1:)]

63.R; =(0, /2] 64.R; =[27%/4)

66. Ry = [cos(sin1) + sin(cos 1), 1+sin1]
66.R, = {0}

67. (a) Range : [-1/3, 3], Domain = [4, 7]
(b) Range [-1, 9] and domain [11, 14]

68.R; =[0,1/2] 69.[-1, 1]

71.R¢ = {n} 72.R; ={0,12}
73.R; =[n/3, n/2)U(n/2,2n/3]

74. Range of [0, 2] 75.D¢ =R, Rf =0, 2]
76.R; ={0,123...,n+1
78.R; = (~, 0]

77.R; =[-1 0]U{cos?a}, A el
79.R; =[1, «0)

80.D; =[0,3], Ry = [12] 81.D;, = [a,b],Ry, = [h(a), h(b)]
82.Dp, = [-2,2],R, = {-2- }Usin3, 1]

83.ac (—oo, —1/4)

x-1 , X<3
xX-4
84.(f/g)x= m , 3<x<4 D(f/g):R—{s}
2)(—_4__ ; x24
X +2x+2

86. ac{0, —4}.[-1, 1]
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